mz I\Ichg/d ﬂdqﬂ

Ratio to ATLAS

QQO Qev PP _

Underlying Event

2 [T | T T 1T T T | T | _‘(L)
B 1<
. gN_ch density wrt@ of leading track(|n| < 2.5, p.>05GeV,p >25 %@)
O =
~  m ATLAS —2
1.6 — --©-- Pythia 6.428 345 n
- 1 Pythia 6.428 346 1<
14 —A— Pythia 6.428 370 _—02
TR Pythia 6.428 default -2
— —a— Pythia 8.301 default =
1.2 — —
11— —_
- 13
B L 1S
0.8 — m|o©
— Eg BN 1<
" m¥Emg aa | >
o2
! S,
—1
— 10O
£
— ©
1c
%]
o
-8
T T — =
2 = —2
1
0.5 — —0.5

left|gright| (w.r.t. leading track) [rad]



	Contents
	Page 1


